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Which of the following is a co

uple dance?
(A) Charj dance

(B) Geendar dance

(C) Manda) dance (D) Shankariya dance

ﬁwf%ﬁmﬁﬁaﬁquamé?
AA) TR g (B) fies g
(©) wied 5= (D) ¥l ey

The Department of Tourism ip Rajasthan
Was established ip -

(A) 1958
(C) 1956

(B). 1952
(D) 1954

W@nqﬁwdaﬁ%maﬁwmmgéaﬁ—

(8) 1958 (B) 1952 %
() 1956 # (D) 1954 %
The Mascot of Tokyo Olympics i -
(A) Eagle (B) Suminski
(C) Panda

(D) Miraitowa
I e Figepieg & —
Wz A 8 ® st
(©) grugt IP) TRt arar

Which one of the following is not a type of
sand dune in Rajasthan?

(A) Seif (B) Barkhan
(©) Parabolic (D) Thalj
TSR H ffiRae # BTN T BT
T BT ISR T} 2?
(A) ¥ (B) sxggr k.
(€) tRraifers (D) orefy

‘Furious Fifties’ winds are associated witt, -
(A) westerly winds

(B) tropical cyclones
(C) trade winds

(D) polar winds

(A) UBAr ya=t JB) Suy By
. TshaT) 9

(C) RS wa=i (D) gy qawy i




e following is a couple dance?
ance (B) Geendar dance

| dance (©) Shankariya dance
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S (B) ifics =

I (D) TR F
partment of Tourism in Rajasthan

ablished in -
8 (B) 1952
L (D) 1954
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(B) 1952 ¥
qssﬁ
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hich one of the following is not a type of
nd dune in Rajasthan?

Seif (B) Barkhan .
Parabolic (D) Thali

T § fA=feftad § § didar Ud gl
T gBR T8l 27

| (B) gva@r

Ry (D) o7eh)

c'iftie‘s’ winds are associated with -

ly winds  (B) tropical cyclones

inds - (D) polar winds

g e & -

& B vw aRed
g |
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ximum number of dust stormg Oceyy

6. Thema |
g e IOERRR R
in
Raiasthan?

(B) Ganganagar
(A) Barmer
(D) Bikaner
(C) Jaisalmer
mwﬂﬁﬂ?mf’f‘ﬁ SEUEE SR
aniferat fd Rrel | ot 87
(A) aTER SR T
(€) SR ECE
7. Which dialect did Grierson also call as
dialect of Bhil tribe?
(A) Ahirwati (B) Dingal
(C) Wagdi (D) Nimadi
Ayt = v arel 1 el B el a‘ﬁ GEl
é dd a By f&Tet
(C) arTe! () A

8. The Sea of Marmara connects -
(A) the Black Sea and Aegean Sea
(B) the Black Sea and Caspian Sea
(C) the Black Sea and Mediterranean S'ea

(D) the Caspian Sea and Azov Sea

AYART AR Iredl & —

(&) T R SR SR R B
(B) e TR o BRI AR
ﬁ)mwmiq@wﬁ
(D) HRYFT AFR 3R TG AR Bl




10.

Match List - I with List - II and select the

correct answer using the code given below -
List - I (Animal Fair)

1 Veer Tejaji

2 Shivratri

3 Chandrabhaga

4 Mallinath
List - Il (Place)

(i) Barmer

(i) Bharatpur

(iii) Parbatsar

(iv) Jhalrapatan

Code -

(A) 1-(iii), 2-(i), 3-(iv), 4-(ii)

(B) 1-(i), 2-(ii), 3-(iv), 4-(iii)

(C) 1-(iii), 2-(ii), 3-(iv), 4-(i)

(D) 1-(i), 2-(iii), 3-(iv), 4-(ii)

-1 &1 g@-11 & e Aifg den A=

f3T Ty ge BT ITART IXS qE ST B GG

T —
A1 (g He)

1 dR aoei

2 Rty

3 FEET

4 AcATY
-1 ()

(i) I=R"

(ii) ?Rﬁg?

(lll) :..:‘ » [
i vl

(A)l -(iii), 2-(i), 3-(iv), 4-(ii)

(B) 1-(i), 2-(ii), 3-(iv), 4-(iii)

&Y 1-(iii), 2-(ii), 3-(iv), 4-(i)

(D) 1-(i), 2-(iii), 3-(iv), 4-(ii)

‘Abhanga’ means - '

(A) devotional poetry dedicated to Vithoba

(B) residence of Bhakti Saints

(C) clothes worn by the Saints of
Maharashtra Dharma

(D) literature of Nirguna Saints

I BT AT B -
(A) ficrar &) gufia wfdd F1
(B) W ol & 3mard
(Qqamgaﬁ%va‘fmtrﬁ‘mm
D) frefor it 7 wfeed s




- Which one of the following (Biosphere
Reserve Area - State) is not matched
correctly?

(A) Nokrek - Meghalaya

(B) Agasthyamalai - Karnataka

(C) Cold desert - Himachal Pradesh
(D) Manas - Assam

frafeRed § @ B A1 (SaAvsey - G
&1 — Ioa) W AR T 27
(A) D — HeTer
. (B) srTReIwETE — eIiC
) T Fef — R gRw
(D) W= — 31
2. Dajiya and Chimata are associated with
~ which tribe of Rajasthan?
() Sahariya (B Garasia
(¥ D) Meena

£
Y
o4

1. The musical instrument, which is played in
Kachchl Godi danceis-
() Jhanjh (B) Kamayacha
QSumal (DY Algoja

‘rrﬁﬁﬁa}:ﬁamﬁm




15.

Which of the following (Book - Author) is
correctly matched?

(A) Indian Struggle - Subhas Chandra Bose
(B) India Divided - Maylana Azad

(C) Unhappy India - Jawahar Lal Nehru

(D) India Wins Freedom - Rajendra Prasad

ﬁwmaﬁ%ﬁaw(w-m)ﬂé‘r
Tafera 27 -

W P st — g =iz e
iﬁ)gﬁam%m—rﬁﬁmma i
(C)méuﬁsﬁw—mmam

' (D)‘s"ﬁamﬁwuﬁw—mm

16.

17:

The two famous painters who came to India
during Humayun’s reign were -

(A) Mansur and Sayyid Ali
(B) Sayyid Ali-and-Abdus Samad
© Mohammad Nazir and ayyid Ali

(D) Moham laSamad

SR, D ARFDI § AR S Ay <) urg
R @ o

(A) FR Tor Irre Ireft

(B) 9Ig aref wrory TG

©) Fe™ie Tofk qory AT areh
(D) e TR qory NG
The Headquarters of Merwara
formed in 1822 was -

(A) Deoli

Battalion

(®) Jahazpyr

(C) Beawar (D) Nasirabaq




. .o [land select correct
& Al with List =11 an
18. Match List the code given below -

|, Ramanuja
1I. Madhvacharya
[1l. Nimbarka
IV. Vallabhacharya

(a) Shu(;dhadvaita
~Hb) Dvaitadvaita =
“(c) Vishishtadvaita %
d) Dvaita
cvcv_“:(:ode- : :
—A - (), 11 - (b), 1T - (d), IV - (a)
ga) = (d), 11~ (¢), I - (b), IV - (a)
‘_(g; i- (c), 1= (d), 1l - (b), IV - (a)
4 - (@), 11 - (b), 1~ (¢), IV - (q)
T -1 e Loy
LORT T e I
TR ST 3RS T 3ee BT T
-1 (e 3
11 =

L g
V.

EESE I b
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% & adda
Wo tr Tt
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20 Mirzai, Dutai and Dagla are the types of -
(A) Lahariyas (B) Turbans

(C) Dhotis (D) Angarakhis

e, g8 siiv wren R o 2
(A) oreRar & B) TS &

(©) grhr & (D) st &

If we travel along the Luni River from-g'

origin to the end, in which order would %
find its tributaries? 599

5014

21.

(1) Jawaij

P

(2) Bandi o
(3) Sukari m <t
i -
(4) Guhiya o
Code- c'-%
(R) 4,3,2,1 (B)1,2,3,4 o)
o] D Ehs
€r3,2.1. 4 (D) 4,2,3,1 ©
o
3FT

(©) 3, 2,1,4 AD) 4, 2,30t
Folk drama Charbajt is related to which
the followi ng cities?

4 o

u_

22 E
. eb
LO

(A) Udaipur (B) Tonk ' %
<

O

o

P

(©) Alwar (D) Bharatpur




' 24. The new name given to the Indusiry

Department by Rajasthan Government is -

(A) Commerce Department
(B) Industry and Technology Department

(C) Industry and Co-operative Department
(D) Industry and Commerce Department

T ARPR A JET fqrr @1 AT A
aaera] ¥d Rl 8 - %
(&) arforsa faumT
4Bf e 3k e faTT
(C) e 3R Wﬁﬂﬁﬂm
(D) ST Td arfored T
2. Who was the architect of Taj Mahal?

(A) Rahim (B) Ustad Isa

(C) Khafi Khan (D) Ustad Mansur
i o
|

GISLESEC Elﬂﬂ_cb—ﬁ =

(A) EH (B) IxTE 34T

(C) @t &f D) SwITE AR

26. On whose recommendation Abu and
Dilwara Tehsil were merged in Rajasthan?
(A) Sardar Vallabh = (&) FazalAli

Bhai Patel p
(C) Gurumukh Nihal (D) Gokul Bhai Bhatt

- d ﬁd d
Fwa! ReRe & MR W 31 U9 corarsT
eI BT IR A AR TR or?
W) weR geem g ( '

B el
ed y

©) Toge ferr Ry
i 'me ieval ruler who significant]
tributed in the development of Kh ;
style of classica] music - g

(A) Fj
Firuz Shah (B) Hussain Shah

Tughlaq
ol . Sharqj :
brahim Aqj| Shah (D) Wajij Ali Sh
I Shah
REPTeA |




28. How many urban local bodies have been
declared open defecation free under Swachh
Bharat Mission (Urban) Phase-1?

(A) 2876 (B) 4324
(©) 3974 (D) 3258
T R P (@) w1 B s
R v <ot Promett et o ey
0 fr w82
J4) 2876 (B) 4324
(€) 3974 (D) 3258
29.

Which one of the following (Topography -

Location) is not correctly matched?

(A) Bhakar - East Sirohj :

(B) Ramgarh hj}) - Rajsamang

(©) Bhorat Plateay - Kumbh.algarh to
Gogunda :

- () Girwa - Udaipyr %

; Earer
(©) udf I Fes () Ry
Which one of the followipg
is not Mmatched corr‘ectly? 7
(A) Mehsana - Bu

ffalo (B) Sona
(©) Sanchori - Cattle () .

31,
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33.

AA R s B
Style) is not corre
(A) Vijay Singh - Deogarh

(B) Raj Singh I - Nathdwara
(C) Anoop Singh - Bikaner

(D) Sawant Singh - Kishangarh

Prefafea § @ oW @1 (@mEe — e
Jch) = gafer T &2

_IA) facrafig — <a7e

(B) Tif¥E | — ATRIGRT -~

(C) 3rquf¥E — PR 7

(D) TradRig — fderTe

‘Vande Bharat Mission’ is related to -

(A) make compulsory recitation of Vande

Mataram in all the theatres

(B) send astronomers on moon
(C) provide subsistence allowance to aged

ctly matched?

women
(D) bring back Indian nationals stranded in

foreign  countries during  Covid
pandemic

T AR feE’ Hadfta| § -

(A) gaw REATERl # 92 AoRH T B

it a9 A
(B) =11 UX 3afRer JiET Al |

(C) gopt AfRARI HI TERT <1 <1 9
( HEHRI bl R
Far

34. Kamala and llaichi are the foremost women

painters of which school of painting?
(A) Jodhpur (B) Nathdwara

(C) Kishangarh (D) Bundi

- FHH R gamgdl fhu REear AN
3gToyg Hfee RIEASR 87
(A) SR - B ArrEw
(C) fperTTTe D) g
In the Pradhan Mantri Krishi Sinchai Yojana
_ Micro Irrigation (PMKSY-MI) the funding

attern with respect to centre : state is -
(A) 50:50 (B) 70:30
(C) 60:40 (D) 80:20

g Y R A~ e R @

frey eoT @1 e B Ao B A H R —
0:50 () 70:30
g (D) 80:20

(2) 60:40

e
e



36.

37.

(M) 21 (B) 18 91*’/

The first solar power plant under tl?e
PM-KUSUM Scheme has been set up in India

at-
(A) Deolia, Jodhpur  (B) Pinan, Alwar

(C) Balesar, Jodhpur (P) Bhaloji, Jaipur

A -GgA Ao @ ded WRd H vEel
W ot v e T E -

(A) 2aferan, Swgr # (B) A, SreraR A
(©) qrereR, S 3 4B Al TR
The correct increasing order of the
following three districts of Rajasthan with
minimum population (as per census-2011)
is -

(A) Jaisalmer > Sirohi > Pratapgarh

(B) Jaisalmer > Pratapgarh > Sirohi

(C) Sirohi > Pratapgarh > Jaisalmer-

(D) Pratapgarh > Sirohi > Jaisalmer

AR § A ST el FrefoiRad
d forett @1 W @t w9 (GTeiE-2011 B
ITR) R =

(A) SR > AR > TaTare

(A) Turkey (B) New Zealand
(©) Iran (D) France

ST FT oK srafRerd & —

(A) et # (B) uiteivs & -

©) R % /D) B H

As compared to 2001, the sex ratio in urban

regions of Rajasthan as per census 2011, has

been improved by how many females per
1000 males?

(€) 24 oo i ‘ >

2001 e 4, 2011 B TR G IR,
TSR @ e & § R wRy 1000
mwmmﬁm%?

W21 s

©u%, v ) 12




40. Which treeis called the ‘Flame of the Forest’
in Rajasthan?
(A) Dhokra
(C) Khejri

Wﬁﬁmﬁsﬁmaﬂmm

14
(A) g (B) ﬂ'g'aﬂ
() Bl D) T

d on the set of :

(B) Mahua
(D) Palash

Answer the question base
numbers givén below -
Fago 7380 273 : B9 156
If the positions of the first two digits in each

number are reversed, then the difference
een the first digit of the greatest
as well as of the lowest number is




atiddaughter k. r 1s the maternal uncle of D.
How many nephews does F have?

(A) 2 T ®o
©) 3 % L) _
B\C‘; F+ I

AB D gITICB A 98 &1 C B g D
\ \M’mgﬁmr&mwanmmﬁ
AT o 0 © -
B 2 3 (B) 0
©) 3 () ]
In a certain codE-j)EAF is written as 3587

and FILE is wri@a\ as 7465. How is IDEAL
written in that code?

W 63648 TS (B) 43586
(C) 43568 - B 63854

% fadw ®rs ¥, p AFaﬁ3§§7%@ﬁ§w
FILE ?5‘{74657£m 21 ¥ AT (Pre) ¥
IDEAL Yoy fofgie  — -

) 63648 2 {Brassge
(C) 43568 A :

Sdo given Statement -
 Mostof the teachers are

ho;_‘r;;%t. Rekha js honest
. o st.

(A) Rekha js a tem, ’
(8) Those R 1 .
teacherg, . ﬁ '€ not

(©) Some teachers are Not honegt

ey

(W) ¥ v spanfia &)
(B)Gﬁmﬁéamqﬁél
\@*EEUWWWT@@ z
(D)mmwaﬁqmm§|

106488 TR

Page |




46. A cube is painted on all its faces and it is cut

into 64 identical smaller cubes. The

difference between numbef of smaller cubes

which are painted on one face and two faces,

1S~
(A) 4
(©) 8

(8) 12
(®) 0

wm%wﬁmﬁaﬁ@nm%@ﬁ
64@Wméaa‘fﬁmam%lw
B A

T BT A & —

SA) 4 (B) 12 i

© 8 0 0 o
47. p,Q Rand Sare tobe seated in a row. But R

and S cannot be together. Also, Q cannot be

e

,g?{a’ﬁ“the third place, then which of th

following must be false? .

second place v. : g
-addac"

(D) P is at the first place

p,Q,R 3R § &1 UF Ul 9o & | WY
R 3R STH @ T 48 whd | QAR wE
B TR L.
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4. Read the following information carefully to

answer the question given below-
(i) PxQmeans PisbrotherofQ
(ii) P+ Qmeans Qis mother of P
(iii) P - Q means Q is sister of P
(iv) P+ Q means P is father of Q
Which of the following means T is nephew of
R?
(A) Rx]+TxK B) Px]+T-R
(C)R-M+T-] D T+]-P+R

1061335074

fF=fofea SRt & arHyde ygahk A
T ge &1 IR g —

(i) PxQ@T arf 8 P, Qe iE ¥
(i) P+ QT arf & Q, P&} wrarSht
(iii) P~ QT 32f 8 Q, P g5 &

1061335074

ﬁ.,maﬁﬂa

'e number of trlangles



50.  Fil] in the missing value -

il

PN NS T

TUD 1laavuv 15

(A 3 S B 1

{]




53. The probability of a shooter hitting a target
is 0.75. How many minimum number of
times must he/she fire so that the
probability of hitting the target at least once
is more than 0.99?

(A) 2 (B) 1
(€) 4 (D) 3

e e @ dea—ded ) wilkiear 0.75
2| 98 &9 ¥ 39 fhad) aR Mo T &
T P FH W B U aR WS B ifwar
0.99 9 fr® B
(A) 2 (B) 1
(C) 4 (D) 3

- What is the unit digit in product of
(4387)%% x (621)72?
(A) 2 (B) 5
(€) 7 (D) 1

(4387)*%° (62007 & UFHe ¥ S 36

a1 2? 43

(A) 2 1 (B) | 277
P -

SC) 7 g )
55. WX"can complete a work in 14 days and ‘Y’ can

complete in 21 days. They begin together but
3 days before the completion of the work, ‘X’
leaves off. What is the total number of days to
complete the work?

(A) 8 21 days (B) 9 days

(C) 10 days (D) 6 days

'X'waénfﬁ‘rmfiﬂﬁm'Y'WZl faq
# QX1 BR Tl & | I AR ey el gy
Fxd & oo a1 f B9 W 3 R qry x|
&1 BIE 3l 8 | B B f 89 § o ardy
fat @1 ot G @ 8?

(A) 85 R (8) 9 ¢ :
0 R

© 105 R CLHA A
| o
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25820
6. If two circles [x—1)2+(y—3) =r° and

x*+y?-8x+2y+8=0 intersect in two
distinct points, then -

A 2<r<g (B)r>2

©r<2 D r=2

W AW x-104 -3 o
X2+y2-8x+2y+8=03‘{ﬁ=1—ﬁ7qﬁ=§3ﬁ

W ¥ avy & qp - :
M2<reg B)r>2
©Cr<2 D) r=>7
S7. Suppose V=2i+j—f<andW=i+3f<. If
u IS unit vector, then the maximum valye of —
scalar triple roduct [GVw ] s - i
A V10 + v 8) y59 = !
=
o v
(© -1 LN (-
» e
AT V=21 +]-k aig W=i+3k AR
MV W] &1 siftrgram L
X B0 +yG (8) /58 o
7;’ ©€) 1 b)y/6 4 q- -
58. The value of }:;;:I‘Zis- R
(A) sec-tang (B) sec g4 fangs |
(©) tan g (D) sec g F ;
: )
—
1-sinf &1 7 ? 5 & \ i )jf'
1 +sin® ) L
JA sec6-tan @ B) sec +tang U,’vv”, )\V‘
(C) tan 6 () sec g U/?"/ /.,.‘
59. The value of 12+ 324 5%+ 724 18 +192jg - Iyl
(A) 1530 (B) 1239 5
AD) 1339
(C) 1430 ! Y- {6‘
2
g/ 0 g& |
12432+ 524 7% . +192$1wm3_‘1/~z = "
B |
(A) 1530 (B) 1230 %
o




0. Inan office, i— of total employees are females

- and rest are males. If gpart of females andi—

part of males are absent, then what part of

total employees are absent?
19 23
(A)—part (B) 5, part

17
© 3 part (D) 75 part

& oor I qoy & A AfRwe w1 2 AmT e
gw‘rmiwa@fﬁwﬁ A Gl HHETRAl
B I T IR 27

19 23 ’é/*
() 22 T (8) 22w
Je(l‘ﬂ’T (D)’—7

5. Extension of Scheduled Area Act-1996 is
elated to -

xtension of reservation;
cation ss L

2
A

AN P

\

PoskecNi

~\-




Read the statements carefully -

'~ The Governor shall declare that he
reserves the Bill for the consideration of
the President. [Article-200]

IT - The President may direct the Governor
to return the Bill to the house.
[Article-201]

Which of the following option is correct?
(A) Only statement I is correct.

(B) Only statement I is correct.

(C) Both statements I & Il are correct.
(D) Both statements I & Il are incorrect.

Sl P eargdS Uley —
| - RTTer T M R (5 dE S B
TRy @ fER @ frg M @ 8|

-3 (3rgeBe—200)
Wmaﬁwﬁéﬂémﬁ;

@ﬁﬁwﬁwaﬁ@am

(ergeee—201)
ﬁf‘?ﬁ‘@{aﬁ?—?ﬂﬁmﬂ“&ﬁ??

(A) pad Ho- 18 2|
(B) @dc @ 11 98 & |

4V 1T 11 S T R 2
(0) 79 Il S B el @ |

4.. Where is the Rajasthan Clvkl Services
Appellate tribunal loca i
. (A) Bharatpur ( Q

- (C) Jaipur (D) Jodhpur
o Rifdet Jar ardier sHerdRoT Hei Rerd
a?
(A) WAqR (B) di&TR

AeT ST (D) S

In which Article of Indian Constitution the
definition of “Gram Sabha” is mentioned?
(A) Article - 243B  (B) Article - 243

(C) Article - 2434 (D) Article - 243C '

wﬁawﬁmﬁmmﬁzﬁ"mw
pI_aRaTT 87

A)aja?a—m@@faaaﬁ—m
) FTBT - 2435 (D) yrgemi - 24371




66. How many times the elections of Panchayati

Raj Institutions have been held till the year
20207

(A) Ten times (B) Eleven times

(C) Five times (D) Nine times

a8 2020 @ ORI H GRSt eIl

& fog fabae IR gﬂﬁrsndﬁ%ﬁfﬁiv Tq?
(A) 10 IR (B) 113K
(C) 59R (D) 9 @R

inister had

. Who among the following Chief Mi
to resign after the Deeg shootout and when
did he resign?

(A) Haridev Joshi ; Jan. 20th, 1988

(B) Shiv Charan Mathur; Feb 234, 1985

(C) Mohan Lal Sukhadia ; Feb 16th, 1980

(D) Jagannath Pahadia ; July 13th, 1981

foy & 9 R gl B ST — TS B

» addact

(B) fRrg =ROT ARJR ; 23 HRAY, 1985
(C) Hres @l gETAT ; 16 HRa¥, 1980
(BY ST URIfeAT ; 13 S, 1981

68. |n which year the District Rurg]

Development Agency (DRDA) has beey
merged with Zila - Parishad in Rajasthan?
(A) 2001 (B) 2003

(C) 2008 (D) 2005

oo W, e ¥ e AT g
AR @ﬂanz@ﬁu) 1 faera frer aRye §

Ry AT &7

(A) 2001 (B) 2003
5

(C) 2008 N ZELL

/,/\



69.
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72.

Which ‘of the followmg
correct abou t the Rajasth

Commlssmn
(i) The chairperso and member
he Governor.
ormed on 15 May,

s are

appomted y

(ii) The commission as f
1999. '

(iii) Itis @ non-co nstitutiona! and advisory
body-

(iv) Its function is t© hear and investigate
complaints related t0 ha rassment 0
women.

(A) i, ii s (8) i, ii, 1!

(©) i, ii, iii, v (D) ii, iib iv

Tl afear AL ¢ ga 4

qa /e

(iii) T8 _ Rt 4
(iv) THPL e ST il
frrard g7 O e fta e &L
(A) i, ii (B) i, i, iii
481 i, ii, i iv (D) ii, iii, 1V
How many general elections of Rajasthan
Legislative Assembly. have heen held till
20187,
M 15 (B) 14
(C) 16— 1
2018 2 d;am
) 15 T 14
(©) 16 \(R¥13 “
. When was vacuum tube invented?
(A) 1900 (B) 195168‘1
c .
) 19?@ g 4 foa Tan?
g ® 1906
(©) 1910 B 6
g 1880
In which generation, transj g
(A) First o sistor was used?
© Thid (@ Fourth
e T b
giforeey
(A) 72 Y ST 3 o
g ﬂn&i

(€) g




73. [n context of Internet news groups, ...
deals with rules of framing messages that
will not hurt others.

(A) netiquette (B) telnet
(C) web server (D) net neutrality

gee A T_D A T, e <

g}l BT 3mEd AL P AT
frgat @ wafrd 21 :__5
(A) FdTBHE (B) oM ¢
(€) 39 — IR D) Je =ggIferel 2
74. |n context of flow chart symbols, choose an S
invalid pair - :
(A) Rhombus, Decision -
(B) Triangle, Terminal E& =
(C) parallelogram, [nput / Output .135
(D) Rectangle, Processing :
Y i J | @1 gaT &4
Wﬁ?ﬁiﬁwﬁﬁﬂﬁaaﬂ é
(A) FEITY, feATST 1
efiet -
L)t
X4}
o],
(|
s

ft+ F5

hift

kil
3

“Curl + Shi




Which of the following ot & typs OTEEER

disk?
® pisk pack

(A) Winchester #i
(C) Bernoulli ©) bhmklty
gHR TEl
e 3 o I
: 27
: o
;‘: (A) fa=aex M?’;ﬂ
::\ S J&p) d as the pasis
¢P 78 Which ]anguagé is bei .”5? omputers?
::J for the Japanes® i hgenexa
. (C) PROLOG o A
b A G I # fo (7 ;ﬂm
&b B) C
& (A) COBOL (D o
= Sl iy the best
f:_‘g 79. Which of the ollowin prod;lces
qua]itygraphic reproductlon
<f (A) Laser printe’ (B) Plotter e
b (C)- Inkjet printer (D) Dot matrix pr
qp,
vy ak o @1 T
y Rere7TT
(c) g@ore M

presentatlon =
t be inserted
r movie clips can

g0. [naPowerPoint
(A) Movie clips canno
(B) Neither sound clips N0

be inserted
cannot be inserted :

(€) Sound clip$
d movie clips can be

(D) Both sound clips an
inserted

g e TR ¥ -
| (A)Wﬁawmaﬁmm ,

gl e

-




83. Mat

m the given

nce from the_
the Direct

gelte::ct the correct senté

ptions which rightly nsforms

speech sentence in reported speech -

Sentence: She said t© me, ‘I thought [ heard _
2 down the stairs”:

you coming d

(A) She told méﬂhoW
coming down’the/st_ai/rs.

he thought she Vh}d_heard

(B) She told me S1¢ ——
her coming down the stairs.
(C) She told me she thought I had heard her
coriting down the stairs..,
(D) She told me S
me coming do

Change into passive voice :
to reject:_

There is no form t
There was no form rejected.

(B) There has peen no form t0 8¢
(C) There s no form that was rejected.

(D) There is no form toﬁrejeéted. %

ch the items in column (A) with

e items in column (B) 50 as to

e =—

gful sentences:

he had heari

treject.

appropriat
form meanin

(a) Ifyou had tried

u tell me

(b) Unless yo
going abroad...

(c) Ifyouare
(d) Do you know.




en
*Ct

85. Choose th

87.

/ efhadfinished
*Fill in the blank with

89. One wh

e correct alternative from the

given options to fill in the blank space in the

sentence -
than her sister.””
pleraiand

g«(‘B)/ most pretty

(D) more prettier

*Sheis i iin. 08
(A) very pretty .

(C) prettier
Fill in the blank with the correct article :

He WOTKS iMN....oouuecimsassessassessesses L.I.C. of India.
(A) a BT the
(C) zero (D) an

Fill in the blank space in the sentence by

choosing the correct form of the verb/tense
_ el el o o

from the given options -
SO s b

“As soon as She ...

: i

-—

informed the publisher.”
(B) finish

@) bis finished
ost a pro"pvf'iant'e

thd YGaoliahe

(A) finished

the

)N

How did
diamond?
A
~ (A) come by (B) come with
ose onl ve is toe




